TOP

Vs=C tl Vs =75% 1.5 TOS-150 C=175
=114 ti= 1.5
TOS-1 Vs : [
C: [I7h]
t: 1 15  [h]
Vo=C t2 d Vo = 75% 6% 7 TO-4 C=175
Vo : (1] = 3,192 2=
C: [I7h] = 7
To-1 t2: [h/d]
d: [ ]
Qo= K9 C/60 Qo = 2.0x 76/60 20 mm|C= 75
h = K10( h1+ h2) =25 4 I/min | Ko = 3
Qo : [1/min] 6 m | kio= 1.2
h: [m]| h=1.2(0+4.6) 0.4 kW |hi= 0
PO-1 C: [I/h]] =55 2 h2= 4.6
Ko : =3.0 ( )
Kio : =12
hi : [m]
h2 : [m]
VR = K11 H/540 VR = 2.0x 1.60x 620 K= 2
VR : [ = 2,000 1,500Wx 1,500Lx 1,500H H = 648,000
THW-1 Ki1: (15 2.0) x 1.5t(SUS 304)
H: [kcal/h]
( ) H=
EDR = H/650 I/min
EDR = [ ] kPa
H: [kw] kW
PV-1 EDR = 2.0x 860/650 K = 2
EDR = K14 5/650 x 456,764/1,000 100 I/min | g5 = 477,000
Kia : 1,210 10 m
g5 : 0.75x% 4( kW [(HE)+
[kW] EDR 1470
(hy) 0
XIs 41 2003/4/12
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